Chapter 9 
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Figure 1

1. Draw a C + I + G + Xn(line on Figure 1.

2. If GDP is $8 trillion, government transfer payments to individuals are $900 billion, indirect business taxes are 400 billion, and depreciation is $500 billion, find NNP and National Income.

3. If GDP = $9 trillion, government transfer payments to individuals = $1 trillion, indirect business taxes = $400 billion, and depreciation = $700 billion, find NNP and National Income.

4. If National Income = $5 trillion, depreciation = $600 billion, and indirect business taxes = $300 billion, find NNP and GDP.

5. If National Income = $6.4 trillion, depreciation = $500 billion, and indirect business taxes = $200 billion, find NNP and GDP.

6. Given: wages, salaries, and fringe benefits = $5 trillion; profits = $400 billion; interest = $300 billion; rent = $100 billion; and depreciation = $700 billion. How much is National Income?

7. Given: wages, salaries, and fringe benefits = $5.7 trillion; profits = $500 billion; interest = $250 billion; rent = $150 billion; and indirect business taxes = $400 billion. How much is National Income?

8. Given: wages, salaries, and fringe benefits = $6.1 trillion; interest = $400 billion; profits = $500; depreciation = $550 billion; rent = $150 billion; and indirect business taxes = $250 billion. Find National Income, NNP, and GDP.

9. Given: wages, salaries, and fringe benefits = $7.2 trillion; interest = $550 billion; profits = $300 billion; rent = $50 billion; indirect business taxes = $400 billion; and depreciation = $600 billion. Find National Income, NNP, and GDP.

10. Given: Consumption = $5.8 trillion; investment = $1 trillion; government spending = $1.2 trillion; indirect business taxes = $300 billion; imports = $650 billion; and exports = $550 billion. Find GDP.

11. Given: Consumption = $6 trillion; investment = $1.4 trillion; government spending = $1.3 trillion; depreciation = $600 billion; imports = $700 billion; and exports = $550 billion. Find GDP.

12. GDP rises from $6 trillion in 2001, the base year, to $12 trillion in 2008. The GDP deflator is 180. Find real GDP in 2008. Find the percentage increase in real GDP between 2001 and 2008.

13. GDP rises from $5 trillion in 1996, the base year, to $9 trillion in 2007, the current year. The GDP deflator is 150. Find real GDP in 2007. Find the percentage increase in real GDP between 1996 and 2007.

14. Find the Tobin and Nordhaus measure of economic welfare if GDP is $8 trillion, the economic bads are $600 billion, the regrettable necessities are $350 billion, and the sum of household, unreported, and illegal production is $1.2 trillion.

15. The Republic on Monmartre has a population of 8 million and a GDP of $560 billion. Find its per capita GDP.

16. The Duchy of Fenwick has a population of 150 million and a GDP of $4.5 trillion. Find its per capita GDP.

17. The Kingdom of Freedonia had a GDP of 500 and a population of 20 million in 1930. In 1940 its GDP rose to 1200 and its population rose to 21 million. In that year its GDP deflator was 200. Find real GDP in 1940 and find the percentage by which real GDP per capita rose from 1930 to 1940.

18. The Republic of New Africa had a GDP of $1 trillion in 2005 and a population of 30 million. In 2020 its GDP was $2 trillion and its population was 33 million. Its GDP deflator in 2020 was 150. Find per capita real GDP in 2020 and find the percentage it rose between 2005 and 2020.

Use data on the pages before the back cover of the book to answer questions 19 and 20.

19. (a) How much was Real GDP (in 1992 dollars) in 1929 and in 1933?

(b) By what percentage did Real GDP fall between 1929 and 1933?

20. Our Real GDP has risen every year since ______.
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